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QUESTION 1

In UML, what kind of behaviors are state machines used to describe? 

A. discrete 

B. continuous 

C. software based 

D. continuous or discrete 

Correct Answer: A 

 

QUESTION 2

What is the difference between a tag definition and a tagged value? 

A. They are synonyms. 

B. The properties of metaclasses are sometimes referred to as tag definitions. When a metaclass is applied to a model
element, the values of the properties may be referred to as tagged values. 

C. The properties of stereotypes are sometimes referred to as tag definitions. When a stereotype is applied to a model
element, the values of the properties may be referred to as tagged values. 

D. The properties of stereotypes are sometimes referred to as tagged values. When a stereotype is applied to a model
element, the values of the properties may be referred to as tag definitions. 

Correct Answer: C 

 

QUESTION 3

What is true about guards on interaction operands? 

A. must always cover all lifelines covered by the operand 

B. should not refer to any dynamic variables, i.e., to attributes of the lifelines 

C. must cover the same lifelines on all interaction operands within one combined fragment 

D. must only cover one lifeline, namely the one lifeline having the first event occurrence of the interaction operand 

Correct Answer: D 

 

QUESTION 4

What might a connector specify? 
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A. links 

B. classes 

C. messages 

D. associations 

E. dependencies 

Correct Answer: A 

 

QUESTION 5

What is NOT true of a profile? 

A. A profile can be removed at any time from a model. 

B. A profile can be combined with others applied on the same model. 

C. Applying a profile means that it is required to apply the stereotypes that are part of the profile. 

D. Applying a profile means that it is allowed, but not required to apply the stereotypes that are part of the 

profile. 

Correct Answer: C 
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